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Autumn 2017 Paper 1 Q4

1 Here are four numbers.
-9 -2 2 9

Write one of these numbers in each box to make a correct calculation.

+ =7

(Total for Question 1 is 1 mark)

Autumn 2019 Paper 1 Q3
2 Work out 31.7 x 100

(Total for Question 2 is 1 mark)

Autumn 2017 Paper 1 Q9
3 Jacqui wants to work out 3480 + 5

She knows that 3480 +~ 10 = 348

Jacqui writes 3480 +-5=174
because 10+-5=2
and 348 +2 =174

What mistake did Jacqui make in her method?

(Total for Question 3 is 1 mark)
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Autumn 2019 Paper 1 Q14
4 Work out 23 x15
(Total for Question 4 is 2 marks)
Summer 2019 Paper 1 Q11
5 Work out 74 x 58
(Total for Question 5 is 2 marks)
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Summer 2019 Paper 1 Q15

6 (a) Write down the value of NTY

(b) Work out the value of 5°

(Total for Question 6 is 2 marks)
Autumn 2021 Paper 1 Q5

7  Write down the value of 72

(Total for Question 7 is 1 mark)
Autumn 2022 Paper 1 Q2

8 Work out 32

(Total for Question 8 is 1 mark)
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9 In Norway last year, the lowest temperature was —15°C.

Summer 2022 Paper 1 Q10

In Norway last year, the highest temperature was 42°C greater than the lowest temperature.

Work out the highest temperature in Norway last year.

(Total for Question 9 is 2 marks)
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10 Work out

54.6 x 4.3

Summer 2017 Paper 1 Q23

(Total for Question 10 is 3 marks)
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Autumn 2021 Paper 1 Q20

11 (a) Work out 3.67 x 4.2

(b) Work out 59.84 ~ 1.6

(Total for Question 11 is 6 marks)
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12 Work out 0.004 x 0.32

Autumn 2022 Paper 1 Q22

(Total for Question 12 is 2 marks)
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